YAl N EObYE |

(T OcstrzamEszzlsd,

® 72+2.4=(72%x| 10 |) +(2.4%x| 10 |)
=720+ 24
=30

00 |) - (0.05%x| 100 |)

@ 3.5+0.05= (3.5%

=350+ 5
=70
(2 smrLELeS.
® 80+1.6 @ 1.05+0.07
= (80X10) + (1.6%X10) =(1.05Xx100) + (0.07%X100)
=800=+16 =105+7
=50 =15
€) 3.3 @ 4. |
1.5)4.9.5 3,2)1 3,1,2
4 5 | 2 8
4 5 3 2
4 5 3 2
0 0
® 0.3 ©® 6 2
1.9,)0.5,7 0.2 5/1 5,5 0,
5 7 | 5 0
0 5 0
5 0
0

ROXT, B 5LV BRELRBBDEELNTT D, BETEAZEL LS

7 15+2.5 1 15+0.6 7 15+60 =

O©FLB6RNAL



AW N EobYE 2

(LT OcstezamEszElLL.

® 15+0.6= (15| 10]) = (0.6xX| 10 ]
=150+ 6
=25

@ 0.14+-0.07=(0.14%x| 100]|) = (0.07%x]| 100 ])

=14~ 7
=2
(2 smrLELeS.
® 12+0.5 ® 3.6+0.12
= (12%xXx10) + (0.5%X10) = (3.6X100) - (0.12%X100)
=120+5 =360+12
=24 =30
©) 3.2 @ 2 6
2.6]8.3,2 0.3 8]9.8 8,
7 8 7 6
5 2 2 2 8
5 2 2 2 8
0 0
® | 7 ® 8 0
0.3 7]6.2 9, 1.5]1 2 0.0,
3 7 | 2 0
2 59 0
2 59
0

ROXT, @1 2LV BRI LBBORBENTT D, 5 TEALEL LS,

7 12+0.4 14 12+40 v 12+4 r 12+-0.04

O©FLB6RNAL



Al N EobYE 3

(LD byunzzcHELELLS,

® 0.3 2 @ 3.4
7.5)2.4.0 2,5)8.,5,0
2 25 75
| 50 1 00
1 50 1 00
0 0
©) 0.8 5 ® 0.7 5
4.2)3.5, 7 3.2]2,4,0
336 2 2 4
210 | 6 0
210 | 6 0
0 0
(A mrmmaslT, |I_o DRETHOHETELEL L,
7 6
® 8.8 8 @ .8 8
0.6]5.2, 4,8)17.5,3
4 8 4 8
4 0 2 7 3
3 6 2 40
4 0 330
3 6 2 88
4 4 2

(T mr-omzTckoT. HEYERD. BAOHLDHLEL LI,

® 4 @ |
5, 6)2 4,3 2,\6,i4,\'713
2 24 2:6
271 211 3
(BADHENID] (BEZADHEI D)
5.6 X4+2.1=24.5 2.6X1+2.13=4.73

O©FLB6RNAL



AW NHODYE 4

(LD byunzzcHELILLS.

@ 3.5 @ 5.2
2,8]9.8,0 .2 8]6.5 0,
8 4 6 2 5
| 4 0 2 50
| 4 0 2 50
0 0
® 0.6 4 @ 2.5
3,2 5]2,0 8,0 2,5 66,4 0
195 0 5T 7
| 3 0 O | 2 8 0
1 300 | 2 80
0 0
(A mrmmaslT, I'—O DRETHOHETELEL L,
6 q
© 2.8 B @ N-N:
1.7)4.0, 5,2.)9,7. 1|
3 4 5 2
6 0 4 5 |
5 | 4 1 6
9 0 350
8 5 31 2
3 3 8
(] Br—omETROT HEYERD. BAOHEIDHLEL LS,
® 5 @ 2
4;&.)2 4{\0’, 2r\§-i64§;|
2 1i0 56
37 0'q |
(BADHENID] (BFADHEID]
4.2X5+3=24 2.8X2+0.91=6.5 |

O©FLB6RNAL



AW N EObYE 5

(LD byunzzcHELELLS,

® 0.4 & @ 0.7 5
9.5)4.1.8 7,2)5.4.0
380 5 0 4
380 360
380 360
0 0
©) 6.5 @ 3.5
0,\8;)5,\2; 1,2 44,3 4,
48 372
4 0 6 2 0
4 0 6 2 0
0 0
(T mrmgsil I'—O DL TOPVETELEL &5,
® @ A
1.4 2 6.3 g
2,4]3.4.3 7.2]5 6.0,
2 4 4 3 2
| 0 3 5o
9.6 2 1 6
70 6 4 0
4 8 5 7 6
2 2 -~

L mr—omickoT. iU ERD. Bi0#sHLLELLI,

® 3 @ 3
2.9)9.4, 8,6)3 2,2
87 2 58
0v7 614
(BZADHENID] (BEZADHEI D)
2.9Xx3+0.7=9.4 8.6X3+6.4=32.2

O©FLB6RNAL



LA )] =]

FHIZ, KDIFFEALTT, TONTORIX2EHNBZ L, DMFORTIZ1.28mT L1,
SHBETAROIES DRI 1. 6ETT. ADIES DR m TTh

| .64E

Om I2 8m

H5LMOBBNO.7TENBREMICL, BOBEBENO.2MENEMKICEEZI LA, EE X
WEEBEHNS 6manrE, brotibo‘mBEIIAmICLY £T 5%,

0.7 0.21%
(X] 0.7x0.2=0.14 +ih f— tm _,Ee;é\r:
56+0.14=400 O S 6
(54) 400n ?1&

2.4LTI 2MBNBERUFDBHYET, CORVF ILTHBNIEREELZT,
DILTaNs@mEEOL LA E, COMBEELLRLEBII, ROENTT D,

7 14

2 2 @ 0 2,4 ()

0 ) — 2L

Ly T

. i O ) . 0 12 ()

' i 2.4 (L ' '| 2.4 (L
( = )

QILThnsmE*RDELL S,
(X 12=-2.4=5




LA )] =]

FHI, RDIEFEALTT, ZONMFORIERH B L, HITFORTIEL4.65mTLL
SNRITERDIEFORIN | .5FBTT. KDIES ORI AmM TTH,

(1.5) &

(X) 4.65+1.5=3.1

T

ADIE S
Cm

H5LHMOERN 0.6 FNEMREMICL, MOBRNO.4FNERICEEEIETE L, EEZ

WEBEFES | 6 8mar ¥, b rotio@BEXMmMICRY FTH,

(4]

0.6X0.4=0.24
168+-0.24=700

(ki)

700m

(0.6) & (0.4) £
| weEwr
i [ B [>T
Om | 6 8
™

7.2LT46.8mAanNBaRIZNFHYET, CORVF ILTRNIEREEEALET,
DILTaNs@mEEOL LA E, COMBEELLRLEBII, ROENTT D,

7
0 7,2 ()
— 6.8 (L)
L/
. 46.8 l_Tl (n)
' i T2 (L)

@ILThNIEHEERDBEIL £ 5,

(]

46.8+-7.2=6.5

4
O 46.8 ()
— T2 (L
I
7.2 £6.8 ()
O W
( 1 )
(%Z) 6.5m




FHI, RDIEFEALTT, ZONMFORIERHL B L, HITFORTIE1.36mTLE,
SNRITERDIEFORID I .TETT. KOIES ORI AmM TTH,

(X)] 1.36+1.7=0.8

4% L7 B A =]
(1.7) &
RKDIFS | DT
Om /I .36m

H5LMNEBNO0.8ENEBREMICL, MOBBENO.6ENEFMAICEELI LA, EE X
WEBFEF240mMnL E, b rotioB@BEXMAMICRY T,

(X] 0.8X0.6=0.48

240+-0.48=500

(ki)

500m

(0.8) & (0.6)f
| Er vk
Om 240m
RS

1.6LTI 3.6mAaNsRUZPHYET, COXRVF ILTRANIEFEEELET,
DILTaNs@mEEOL LA E, COMBEELLRLEBII, ROENTT D,

TI 1 3.6 O ()
i E Ii.6 (L)
r7: - I3:.6 (n})
i i Ii.6 (L

@ILTHONnsERERDEL &£ 5,
(X} 13.6+1.6=8.5

4

1.6 13,6 ()
O W
O 1.6 ()
— 3.6 (L
( 2 )
(%5Z2) 8.5m
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